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More than this; he wrote to divorce his wife, etc.

Overview

The mawn first taught that one cannot use a v, which the 2°7910 wrote for practice.
The mawn continues 19 ¥ 10, there is even a greater novelty, that if a person wrote
a > v for his wife and then another couple with the same names wanted to use
it for their divorce it is also 7105. From the syntax of the 71wn it seems that from the
first rule we cannot derive the second rule however from the second rule we can
derive that the first case is surely 9109.'

- “PYres) WY AN AT AN RYN *PWIT) WY XYW An2w At XY 2w NInda
The X223 explains the 12°n 2n° to mean, that not only is it 709 in this first case
where it was not written for the purpose of w19 at all, but even in this
second case where it was written 72193 aw», nevertheless it is still 9105 -
— 19513 95 NI *90nY
Therefore the mwn stated '19°% 9n°', because the 9109 in the second case is a greater
novelty than the 7109 in the first case.

nooIn asks:
- 519’)3 45 NON 235NIY 7V 95511 9NN ON)

And if you will say; but how is it justified to teach here 32°% a0 -
- 51097 XNNHPA IPYNY D KY ) INDNIT 13

Since that from this (second) case as well we could not have known that the

first case is (surely) 9195, moon explains -
- ANY OWY 2NN 91 NY YN9 OWY 29NN 299 NID INNT NN N7

For I could have said that here in the second case since it was written for 5r9
(one woman) it cannot be considered written for 8% (another woman) -

"t is 19n 2n7; a greater W1Tn in the second case that it is 2109, implying that knowing this we can infer that the first
case is surely 7109, for otherwise why is the second case '12°n 20",

> On the 2 Tmy.

? The 0910 merely wrote it for writing practice, there was no intent for w1 at all .

* The first husband wrote it in order to divorce his wife.

> 2m 2n*' implies that this (second) case is a greater W17 than the first case; meaning that if we would only know
the first case is 9109, we could not have concluded that the second case is also 9109; however if we know that the
second case is 7109 then certainly we know that the first case is 7109. moo1n will argue that this is not so!

% The words ;1%> 5 are a bit misleading here, since in this (second) case we are discussing where the second couple
has the same names as the first couple; rather N901n means that they are separate and different women, so he uses
the frequently utilized terms of 78?1 7nn.
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However the practicing scribes who are not writing for any specific woman,

indeed it may be =w>, for this is what the X773 states in the first 95 of ndon
PRV -

- HINN NVID N MPYNY NIV NN PRT 23 Y N7

That even though the rule would be that a 00 n%%» which was written for one

woman is not 2> to be used for another Y9 to make her drink the 2 K»7 o7,

nevertheless we could say regarding —
— 91",71'\1):‘1 %93 590 NTPAY TIINNYT 23 Yy N NN

A 770 190 that even though it was written Tabn;19, indeed it can be used as a
00 NY°An to erase it in the o XA .

mooin answers and distinguishes between the %077 of the 0°1910 and the 7077 of the n"o:
- %9991 9904 12501 115 NNYY YN XY XINT 19NN 9215 Y

And one can say that the 725n7% here by the 0910 with a v3 is not considered

that much @™ as the 725077 of a n''® by a w0 where it is considered more 7w -
= 0)7 YWD BYY HYI 1Pam PR 1TIINNY DNYYN DIIDDT

For regarding the 259910 that are practicing to write, they do not write at all for

the intent of a 9w> v3; they are merely practicing -
- 43 mwyb P98 D1 Y95 BNDA AMD 1N 990 YaN

However the one who writes a n''® presumably his intent is for whatever is
needed to do with the n"o -

7 The x7m3 there is distinguishing between a case where he wrote a 710 n%"¥» for one woman whether it is 7w3 for
another woman, and a case where he used a n"o for the 7v0 N2>, He erased the 700 nw1o in a n'"o for a w0, The
X713 states that if we would only know the first case is 2109, we could not conclude that the second case (of n"0) is
9109 (even though in the first case it was written 70 ow?, more than the second case).

¥ See previous %3 11"7 ‘010 TIE footnote # 3.

® This is the view of 2" there. There is an advantage in a "0 over a 73 which was written for another 10, for
there it was certainly not written for this second 7110 (only for the first), but a n"o which is written ano so any
woman can use it. The same reasoning should apply here by v, that it may be preferable to use the vx of the 0910
1pPn which was not designated for any specific woman, than to use a vx which was designated for another woman.
Therefore there is a w17°17 in each case of the 71wn; in the first over the second as just explained and in the second
over the first as the X713 explained. The question therefore remains why do we say '19°» In*' concerning the second
case when the first case is also a w17°r7 relative to the second case?!

10 According to this view (that 1p»n 0°9910 is less 7nw> than n"o) MBOIN previous question ¥PYY 73"72 (see there
footnote # 4), is answered.

" The one who is writing a n"0 is not merely practicing, but rather he wants it to be a proper n"o than can be used
for various purposes (perhaps even including using it for o n?°). Therefore regarding n0 we can say that even
if we know that one cannot use the 772°3 of another 700 (since it is written W% X7w), nevertheless I may think that
one can use a N"o for a 7VID NP1 (since it is not written for practice, but rather with the intent that it should be used
for whatever is necessary), however by v3 once we know that a v3 which was written 722> for one woman is 109 to
be used for another woman, we know for certain that a v3 which was written for practice is certainly 2105.
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But nevertheless (even though that the n"o is written 12 MWY? 78w 771 227 [even
for a v3]), the nn>1> of a n''o is not "w> to divorce with it, as we explained
previously —

Mmoo offers an alternate solution:'
- 19512 959 %NNY TV DIPN Y9171 Y W 53 IN

Or you may also say that notwithstanding (the X3 in P217°w)'° it is correct to
say '19" anY' in the mawn -

- 7912321 29V 102 1171 B19193 P HNN NI2D YWV 19
Since there is one logical reason to be %212 by "2 2218, more than by the
second case where he changed his mind and another wishes to use his v3.

nooIn asks
- 191: 5 959 235139 1) NYY "N 181’\9’) DIV AMINA YNINN DN

And if you will say regarding the 71wn of ‘one who writes the texts of 1°v»’, the

mwn should have also stated 32 ®» 203, for there is a greater w17n there than in all the

previous cases; N90IN explains his question -
= INP NNYY INDY 999 NNDT (3,2 91 DINAT WA P1IY K81 R 13N YN NNY

Since that from all these cases in our 71w», the X712 in the beginning of n>on
z°rar, was not able to infer that X»n% by a v3 is »105 because it is not intended
to be 7w™; the X3 was able to infer that 2109 X0 - -

"2 Even though there is an opinion that one may use a n"o for the 7v10 N?°¥ (see footnote # 9), nevertheless all agree
that a n"o is 100 for a va.
13 5% 7"1n2 where '01n there distinguishes between 110 N3 where the 3713 is not 79pn and a vx where the %v1 is
THpn. W'Y,
4 We do not need to differentiate between the levels of mnw by a n"o versus PR 090.
' This 1"X disagrees with the first answer and maintains that the w5 level of 1p» 01910 and n"o are equal.
'® Notwithstanding what moon cited previously from 1217y naon (see footnote # 9).
7 We can write 192 10° on the second case because there is a X720 to say that it is a greater w7n. The fact that there
is another X720 to say the opposite does not diminish the first X720. The (71wn and the) X713 is not stating explicitly
that we can derive the first case from the second case (that can be done only if there is one X720 only, that the second
rule is a greater w171 than the first rule), but to merely say 72°n 0, that there is a w17°17 in the second case; we can do
that even if there are conflicting n1720 since according to one X120 there is a greater w1711 in the second case.
18 See later X,10. The m1wn there states that the one writes the texts of 1"0°) should leave space to write the names of
the man and the wife and the date. Otherwise the v3 is 2109.
' This question seems to be (only) according to the 1" that even though there is a Wy in both cases, it is still
appropriate to say j2°» 0.
20 The X3 there assumes that a b3 which is written ono; meaning with no specific intent at all for a specific person,
it is 700. The X m) tried and failed to infer this from the various mM>%:7 in our NWwn except from the case of 2M3n
1103 °090.
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Only from that 71wn of 7w oW 2M>7, alone. The question is since that mwn is a
Y71 over our mawn it should have started 12 ¥ 0> —

N1B0IN answers:
= 9109 NNPNDT 1IMNWYUNRY DY Nan KXY PV YD9IVT XA XINNT 99D YN

And one can say that the section of °v o2 20107 was not taught at all to

inform us that X»no is 9192; this was not the intent of that Xin -
:199NN 591 D9VN 21NV 191DY 1329 1IYT JIMNYN NN

Rather the mwn is informing us that the 3229 permitted the scribe to write the
o212 because of an ordinance.

Summary
The 312° 7n° can be understood that the first case can be derived from the second

case (since the 72w% X5w of Ppn 0190 is much greater than by a n"d), or as long
as there is some ¥17°17 in the second case we can say 12’2 2n° (even though there
may also be a ¥17°1 in the first case over the second). The wn of "0 *051V 2AMON
was written (only) to teach us a leniency.

Thinking it over

According to (the first answer of) '01n that Papn 02990 is less nw? than n"o, why
did not the 7wn (in its successive statements of 12°» 2n°) also list 19°» A0 by a
n"p?!>

! The mwn states that the 1910 must leave blank the spaces for the names and the time (as well as 3% NN DX 7
a7X), otherwise it is 7109 even though it is written w13 ow?, but since it is written ¥2n0 it is 2109.

** The X3 there explains that the 73wn is according to X"3 who requires 7w 72°0, so really the entire v3 (including
the 0210) should not be written unless the 2¥2 requests it, but in order to assist the 0°1910, the 0121 permitted them to
write (just) the 091, so they will have it ready when the need arises, and will not have to write out the entire v>.
vy,

2 See MR KW,

4
TosfosInEnglish.com



